SFN b FEE F2A1/0025

BEA VT RAEE
NHEGEMIE FHRERETS

b

¥ B B B F



[ WHE ]

M B O O R (WEEET)
T f# & hl Bk - Tk HZ BO& i =
W fE1E T =X 1.0
W T |U-)A" 794 FEXAR 2 5 1 1.0 V=0. 1558m3
FEIA 277 -l m3 0. 1558
X I AT 27 =b m3 0. 1558




1. WrimEE T

& i & B EX L WX LN
[ (m) (m) (m) (m3)
(D[TERK 0.70 1. 05 0.05 0. 0368
@ » 0.80 1. 25 0.05 0. 0500
e v 0. 45 0.95 0.03 0.0128
@| » 0.20 0. 45 0.03 0.0027
G| 7 0.50 0. 65 0.03 0. 0098
©| v 0. 30 0.35 0.03 0. 0032
@| 0. 45 1. 80 0.05 0. 0405
& &t 0. 1558




[ pormis ]
& & R K OCOKUIVERET)

T Mo Bk - STk [HA K& il

KEIY B iE T 2y

KEIDTAN V7" FE24 5
K1Y BEERIR /N 270y )2k Y m 4. 66




L KGID ERET OKEIV74b )y7" AR5 0

PEAERIR /N 270y ) AR Y )

& B Ral i
(m)
© TR 2.33
@ | Fictl 2.33
& F 4. 66




[ WHE ]

£ £ EF F O (RERT)
T i &l ok - ik HAL G e
iz T E20 1.0
BT A A TR m2 6. 1




L gHm T (HE AL T

6. 08

m2

6. 08

m2



[ EmEAAE42 ]

M B O O R (WEEET)
T f# & hl Bk - Tk HZ BO& i =
W fE1E T =X 1.0
W T |U-)A" 794 FEXAR 2 5 1 1.0 V=0. 1843m3
FEIA 277 -l m3 0.1843
X I AT 27 =b m3 0.1843




1. WrimEE T

. & B E&L HEH (S5 ‘
| B (n) | () | (w) (n3) "
OESIR 0.35 0. 60 0.05 0.0105
e » 0.30 1. 05 0.05 0.0158
e » 0.50 2.20 0.05 0. 0550
@| 0.35 2. 10 0.05 0. 0368
G| » 0.35 0.30 0.05 0. 0053
© » 0.35 2.65 0.05 0. 0464
@ » 0.25 0.90 0.03 0. 0068
I 0.15 0. 60 0.03 0. 0027
OllidE 0. 20 0.10 0.10 0. 0020
1 0.30 0. 10 0. 10 0. 0030
& &t 0.1843




[ 4 HE20E ]

B & R & OKUIYERET)
TR | m B | M - hiE (W % & W%

KEIY B iE T 2y

KEIDTAN V7" FE24 5
K1Y BEERIR /N 270y )2k Y m 3. 10




L KGID ERET OKEIV74b )y7" AR5 0

PEAERIR /N 270y ) AR Y )

. . k&L
f] B0 (m) fii
© TR 3.10

5]

o
i

3. 10




[ %Eqima2 ]

B B O R TR T)
T FE (O ST ST 7 =X (VA B~ g =

ST T = 1.0
R (72770 t=5em m 1. 20

;ZZU”F Sem#% % 6emPl T m2 3.54

FeIA av))-hk m3 0.18

Faaisille 2= ) m3 0.18

a2y Y— b [18-8-25H m3 0.18




LRI (TA770V N t=5cm)

EfE T—xM LY

a7 ) —hKEIoY (=27 J— ht=bcm)

1.20X2.95

FA (7 U — R
o0 T LY

3.54X0. 05

R (M2 27— )

3.54X0. 05

27 U — b (18-8-25H)

1.20X2.95X0.05

1.20

3. 54

0.177

0.177

0.177

m2

m3

m3

m3



[ 4 E42 ]
B O£ FF F (RExT)

T #& 5l B - ik HAL ¥ & i 2L
% T =X 1.0

jex HAE A 7 m2 16. 4







1 RGBT (BE A TS

@ [RCASRAT]

@ [RCAAAHT]

@ [H7]

@ [RCARRRAT+AHT]
® [RCAfRAT]

- o= = = >

IR E S T2 B LY

1.70
1.70
1.70
2.00

X X X X

1.05
1.58
1.65
1. 40

= 6.32 m2
= 1.79 m2
= 2.69 m2
= 2.81 m2
= 2.80 m2
= 16.41 m2



